
Calculators Allowed1. B
2. When the temp is 23ºF, the cost is decreasing at a rate 

of $0.17 per ºF.  Units are $/ºF. 

3. a. lim
ℎ→0

21+ℎ+ 1+ℎ − 21+1
ℎ

= 2.386

b. 𝑓𝑓𝑓 𝑥𝑥 = 2𝑥𝑥 ln 2 + 1 ⇒ 𝑓𝑓𝑓 1 = 2 ln 2 + 1
4. a) (0,35) and (45,50) because v(t) is inc.

b) 1.44 ft/sec2 c) -2.1 ft/sec2 (uses 35 < t < 45)
No Calculators

1.  C            2. A              3. C              4. D
5.  E            6. D               7. 𝑦𝑦 − 1 = 2 𝑥𝑥 + 1 8. 5𝑥𝑥− ⁄1 2 + 6𝑒𝑒𝑥𝑥

9. a. (-5,-3) and (1,4) because 𝑓𝑓𝑓 is positive
b. (-4,-1) and (2,5) because 𝑓𝑓𝑓 is decreasing
















